OO000000o0ooo0ooooOoopPDFOOOOOO
Oo00o00o0ooodao
https://www.100test.com/kao_ti2020/644/2021 2022 E5 85 AC_
E5 85 B1 E8 8B B1 E8 ¢88 644964.htmI 00 000 OO
Jdododododododosgeeooff>00000000n
Jo00o0ooooooooooooooooooodgo
Do0o0d0o0dooooooodod Inawordd

[] the three points mentioned abovel] are the main

opinions on hold by [common/most] people. But
my idea Is that [1 and I sincerely believe
that it is right. 2. Jo0ooooooooooon
JO000o0odooooooooooooooood

[] D000 000010000 Somewhat
surprisingly] people with different experienceld] life style and
[emotional concerns / educational background/ ]

share similar attitudes toward this [problem/question]. They usually
[give somel] even all of the following reasons / consider some[]
even all of the following points [important/ necessary / desirable
/advisable] ]. D O OO OO0 oooood 0dodolinaword

[] [1 the three points mentioned abovell are the
main [reasons /desirable qualities / ] of
.But as far as | am concerned] | consider the [ chief
reason/ most important quality] is .00 Inaword[
[ the three points mentioned abovell are the main
opinions on hold by [common/most] people. But in

my point of view[] has more advantages than




disadvantages under most circumstances. 1 0 0 0 OO0 0O O OO
JO00000000000000o0doOd This may explain

why /As a consequence It goes
without saying that In factl] we can observe easily
that in modern society[] As a proverb says[]

"Everything has two sides". As a proverb says[] "Where there is a will
there isaway". Asis known to alllJ "No painsl] no gains." Let' s
bring our discussion here to a more present and practical context. In
today’ sworld[] | can say that if you have no
experiences like thesed your life is an inadequate one. be of great
benefit/damage to sb./sth. The reason of IS not so
much as People differ greatly in their
attitudes towards this problem. Some people hold the opinion that
Otherst [ however/on the contrary]] maintain
that tis
[urgent/necessary/convenient/desirable/advisable] for sb. to do sth.
have [trouble/a difficult time] [in doing sth./with sth.] T [ OO O It
can be given by a [ well known/concrete[] example that

./ In order to see this point clearly[] let us to see an
example[] /To illustrate thisI there is an example
that is very persuasivel] 00000 #0000ff>2011
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